Z 1) eubey

9P:Z0:TH 1202'V0TT “ogssiwg

2L'£90°€28 81'022°6¢€8 81’022 'SE8 000 00'0 00°0 000 [al eueinosa] sepleisdp

£9'955°026°CF 76 610 06C 9% 000 50°0 000 ¥6'610°06¢ 9 000 — eI+ Rl + 1] = p euos

000 000 000 000 000 000 000 soJiaoueulj soassed Woo ejjeosy €ly
00'0 00'0 000 00'0 00'0 00'0 000 SOJI8UBUI SOAE WO EYB08Y zy
00'0 00'0 00'0 00'0 00'0 00‘0 000 Ic] eanjas3 opu ey

£9'9$5°026°2Y 6 610°06E°9Y 000 00’0 000 ¥6'610°06E°9% 000 Tz] eAns)3 eneday

000 000 000 000 000 000 000 sojuatebed soe sepijege ogu 0gdIsoday] 5]
00'0 00'0 00'0 00'0 00'0 00'0 000 [eyded ap seyiedas SenQ o
000 00'0 000 00'0 000 00'0 000 [endeo ep solpisgng z6Y
00°0 00'0 00'0 00'0 00'0 00'0 000 sennQ €16y
000 00'0 00'0 000 000 00'0 00'0 3N -Jousxy ziey
000 00'0 000 00'0 00'0 00'0 00'0 18007 oglesnsiuiwpy [{AY:H]
000 000 00'0 00'0 00'0 00'0 000 leuoiBay ogdensiuupy viieY
00'0 00'0 00'0 000 000 00'0 000 ferog edueinbeg eLiey
00'0 00'0 00'0 00'0 00'0 000 000 Sepephue seAnQ - [eAUs) ogdensiuipy Zhiey
02'962 292 8¢ 81'82.'816'6€ 00'0 000 000 8b'8Z.'816'6€ 00'0 sgnBnpod opeisy - [eAued oglensiuipy Liey
02'962'292 8 81'92.'816'6€ 00'0 00'0 00'0 81'82.'816'6€ 000 sedland sagdensiupy 1164
02'964 292 8 81'82.'816'6¢€ 000 00'0 00'0 8v'82. 8L6'6€E 000 Jejded ap seiouguajsuel| 168
02'962'792°8¢ 81'82.8L6'6€ 000 00'0 00'0 8¥'82.'816'6€ 00'0 1ended ap soIpISqNS @ SEIoURJBjSUeI | 6y
00’0 000 000 000 000 000 000 OjusWIISaAUl 8D SUS] 8P BPUSA 8y
02'961'292°8¢ 8b'87L'816'6¢ 00°0 00‘0 000 81'8ZL'816°6€ 00‘0 fenden ap enasey

00'0 00'0 00'0 00'0 00'0 00°0 00'0 S9JUBLI0D SBYI808) SENNQ it
00'0 00'0 00'0 00'0 00'0 000 000 SOJIAIBS & SUB Op EPUBA o
00'0 000 000 00'0 000 000 000 $8JUBLICO SOIPISQNg zsy
00'0 00'0 000 00'0 00'0 00'0 00'0 senno €15y
000 00'0 00'0 00'0 00'0 00'0 00'0 3N - Jouex3 zisy
000 00'0 00'0 00'0 000 00'0 00'0 18207 ogSexnsiuwpy Shisy
000 000 000 000 00'0 00'0 000 leuoibey ogdensiuiwpy viisy
000 00'0 00'0 000 000 00'0 00'0 leoog edueinbeg €LISY
000 00'0 00'0 00'0 00'0 00'0 00'0 sapepnus selnQ - jeljued ogdensiupy zhisy
EV'09L'L0LY ov'L6T LLV'S 00'0 00'0 00'0 ov'L6Z LIV 00'0 sgnbnuiod opejs3 - feuad ogdensiuiupy LHLGY
€V'092'20L Y V' I6Z LLP'9 00'0 00'0 00'0 9162 LLP'9 00'0 sealand segdensiupy LISy
€V'09L°L0LY v 16T LLY'Y 00'0 00'0 000 o' I6Z Lib'9 00'0 $8JUBLIOO SEIOURJBJSUBIL 159
€V'09L'L0LY ov'L6T LLV'Y 000 00'0 00'0 9r'L6Z LIP'9 00'0 $8JUSLI0D SOIPISANS © SelUgIajsue) ) sy
000 000 0o'o 000 000 000 000 apepaudosd ap sojuauwipuay 12’
00'0 00'0 000 00'0 000 000 000 sepepljeusd SEANO © Sejnw ‘'sexe] £y
000 00'0 00'0 00'0 000 000 00'0 apnessisgns o [e100s ogdejoud isis sapdiqUIUCY [2°]
00'0 000 00'0 00’0 000 000 000 sojauipu) sojsodu i
000 00'0 00'0 00'0 000 00'0 000 soleuq sojsoduw| [4R%]
000 000 00’0 000 000 000 000 [e0s14 Y808y 2]
€V'09L°L0L Y oV I6Z LLY'D 00‘0 000 00°0 oP'L6Z LIV 000 ajuau0) eNaIeY

00'0 6£'290°0L 6€'2900L 000 000 000 00'0 [v] euesnoss; ap seodesad

000 00'0 00'0 00'0 00'0 00'0 00'0 249} fius Jod opiajorsp “wedio 1ado op|es ‘gedey

00'0 000 00'0 000 000 000 00'0 siejuswedso “sedo oples op oe3njordQq

00'0 00'0 00'0 00'0 00'0 00'0 000 [1] sreyswedso segdesedo

00°0 6£'290°0L 6£'290°0L 00'0 00'0 00'0 000 Jousajue ejougIas) ap opleg

soiayje
6102 lejol sopung UdW3 an oM dy sojuawIgGaddy esuqny
{0Z202Z) ojuawepueuy ap sajuo4

HN3 ‘euejauon wvwv_::

/|

o |ejusawedso oyuadwasap op oedesysuowaq
0202 :0191249x3
1 :opouad _v\; \ | | oo



T 1 eutbed 9Y:Z0:ZL 1202 ¥0'TT oessiwl
‘Jlenesuodsay O
/
€9'955°0/6'Z v6'610 06€ O 000 000 000 ¥6 610°06€ 9 000 191 + [S] 1e101 ESadsaq
€9'95506 2¥ v6'610'06€ 9 00'0 000 000 ¥6'610°06€ 9% 00'0 [e] + [2] + (1] teso L eneday
SG'LLV YOV vEZL8 LY 00'0 00°0 000 vE'ZIg9LY 00'0 olewd oples
SS'LLV YOV YETLE LY 000 000 000 yE'TI89L P 00'0 lende oples
000 00'0 00’0 000 000 000 00'0 sjusno) oples
80'6.€ 906 Z¥ 09'/0Z€16'SY 00'0 00°0 00'0 09'202 €165 00'0 eLgwLd esadsag
SS'LLL VOV VEZL8 9LV 000 000 000 [T 000 TsI- [z 1eqo15 opies
6€'/90°0L ¥9'980'65 ¥9'980'65 000 000 000 000 [0l - g + [v] = [a] eueinosa | sagdeiedo
000 000 000 000 00'0 000 000 [2] - [¥] = [g] sieyuowediQ sagdesedo
6£°290°04 +9'980°6S #9'980'6S 0" 00" 00'0 00 ajuinbag eougieg e esed opjes
€€'966°2SL £2'L0Z°9¥8 £2'L0C 98 0’ 00°( 000 00' [o] eueinosa) sagdesedQ
£9'955°026°ZV ¥6'610°06¢°9F 000 )¢ 00 $6'610°06€°9F 00 Tol + [s] = [] ewos
000 000 000 000 000 000 000 SOJI20UeUl} SOAIssed woo sesedseq oila
SS'LLV YOV vETI8 LY 000 00'0 00'0 yE'TI8 LY 00'0 SOJI9IUBUY SOANR WO sesadseq 6Q
SS'LLLYSY ¥E'ZTI8 LY 00°0 00°0 00'0 YEZL'ILY 000 [9] eanaje ogu esadsag
80'6.1£°905°Z¥ 09'20Z°€16'SY 00°0 000 000 09°202'€16°SY 000 [sT eAnas3 esadseq
000 000 000 000 000 000 000 (elded ap sesadsep selin0 80
00'0 00'0 00'0 000 000 00'0 00'0 leyded ap solpisans z.a
v5'6.5'Z6€'€E 15611282 GE 00’0 00'0 00'0 15'611'282'SE 00'0 senno vi.a
09'vEL VLT T 29'11282CT 000 00'0 000 29'212'82CT 00'0 selliwed €120
6L'L0VTSL) oL'96v'8Y L 00'0 00'0 00’0 ol'96v'8ZY | 00'0 OAljeJON} OBU JOJISS Op Sepepiul zua
00'000°09€ 00°000'8.F 000 000 00'0 00'000'8. 000 12007 ogdesstuiwpy sLia
00'0 00'0 00’0 00'0 00’0 00'0 00'0 leuoibey ogdessiuiupy vii2Q
00'0 000 00'0 00'0 000 00'0 000 le1oog edueinbag €L12a
000 00'0 00'0 00'0 000 00'0 00'0 sapepiiue seinQ - [efua) ogdensiuiwpy ziza
00'0 00'0 00'0 000 000 00'0 000 sgnBnpog opels3 - [enus) ogdesisiuiwpy (A9W1¢]
00'000'09¢ 00'000' 8% 00'0 000 00'0 00'000'8.¥ 000 seoland segSesiuIWpY L2Q
€6'V2L6LLLE 62'€61 LLY 6E 00'0 000 000 62'€6L LIy 6E 00'0 lejided ep selougsejsues | 1.Q
€6'12L6LL L€ 62'€6L LIV 6E 00'0 00'0 00’0 62'€61 LLY 6E 000 lelided ap SOIPISQNS @ Se1ugJejsue. | .Q
zL'968'8l $8'2ZLYe 000 00'0 00'0 S8'T2L YT 000 lelded ap sueq ap ogdisinby 9a
$9'819°'86.°LE ¥1'9L6° LYY 6E (] 000 00'0 PL'9L6° 1YY 6E 000 lende9 ap esadsag
¥0'ero 09'09% 00'0 000 000 09'09% 00'0 s8juaL0o sesadsap seano SQ
000 000 000 000 00'0 00'0 00'0 $8jUBLI0D SOIpISANG va
00'0 8.'8LL 12Y 00'0 00'0 000 8'81L L2y 00'0 seqnQ viva
SY'0ZL'EL 05'190 %02 00'0 00'0 00'0 05'190'¥0Z 000 selliwe civa
91'288°G42 87'894'508 00'0 000 000 81'891 508 00'0 OAJRION) ORU 10J03S Op SapepluT Zwa
00'0 00'0 000 00'0 000 00'0 000 |e007 oBesSIUIWPY SLiva
00'0 000 00'0 000 00'0 00'0 00'0 |euoiBay ogdessiuiwpy viivya
SS'€LLL 18228 00'0 00'0 00'0 18'22€'S 00'0 {epog edueinbeg cLiva
000 00'000'95F 000 000 000 00'000'95% 00'0 S8pepliUs SenQ - [eAu) oedessiuupy zZuva
00'0 000 000 000 00'0 00'0 00'0 sanbnpog opeis3 - 1eua) ogdensiuwpy Liva
SS'€LL L 18'/2e 197 00'0 000 000 19'228 19V 00'0 seoland sepsensiuwpy 1pa
91'9£L'962 15'9/2°868°} 00'0 000 00'0 15'9/2'968'} 00'0 S8JUBLIOD SBIDURIBSURI | wwa
91'922'962 16'9/2'868'} 00'0 000 000 15'9/2'968't 00'0 S8)UBLIOD SOIPISANS 3 SBIoUYIIJSURLL va
00'0 000 000 000 00'0 00'0 000 sofseaua sonno & sounp €a
$0'268'295 €0'v¥S 085 00'0 000 000 €0'¥S 085 000 sodiases @ suaq ap oedisinby za
L¥'981'8/9 \S'€/8 LY. 00'0 000 00'0 1§'€L8° YL 00'0 - [eog edueinbag €1a
80'cP8°29 92'7€6'28 000 00°0 000 82'2€6'28 000 SIBNJUBAS MO SIDABLIEA SOLOAY zia
02'02'90L'E IP'VOTI9LE 00'0 00'0 00'0 L¥'0T' 191 00'0 sejusueLad 8 Sepad sagdeseunway 1a
6L'06Y P8 92'0L0'266'€ 000 00'0 000 92'0L0'266'€ 00'0 Jeossad o woo sesadsaq 1a
£V'09L°L0L Y 9V'L6T LIPS 00°0 00'0 00°0 oH'L6Z LIV 000 ajuauoy esadsag
soye
6102 fejoL wo......un. HdW3 an oy dy sojuswebed eaugny
{0z0Z) oluauiRIdURUL op S8IU0S
N3 ‘“euejduo apepiun
jejuswedio oyuadwasap op oedesysuowaqg
020¢ :o191319xg

v1 ‘opouad

JIvdd 020V :apeplug



